Math1220 Midterm 3 Summer, 2012 Kelly MacArthur

Name Date

Instructions: Please show all of your work as partial credit will be given where appropriate, and
there may be no credit given for problems where there is no work shown. All answers should be
completely simplified, unless otherwise stated.

Every question is worth 10 points.

Part 1. Determine if each series converges absolutely, converges conditionally, or diverges. Show
all your work, state which tests you used, and explain your reasoning.
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Part 2: Rewrite each sum as an infinite series in summation notation, and then determine if each
series converges or diverges. If it converges, find its sum.
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Part 3: Answer each question.
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10. Find the convergence set for the power series Z
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